
CRF450L Headlight Kit Build Instructions 
(49-0050) 

9/2/22 
 

Part list: 
- Squadron Pro Spot  - Zip tie 
- S2 Sport Combo - CRF450L Faceplate (44-9160) 
- 2X M6 bolts (64-0015) - CRF450L Mount (44-9161) 
- 2X M6 Nyloc nuts (20-1004) - 4X S2 Bezel bolts (64-0045) 
- 2X M6 washers (20-1020) - 4X Squadron Bezel bolts (66-0032) 
- 2X spacers (20-2301) 
- Harness Adapter (60-0021) 

- 2X Squadron housing bolts (20-1368) 
- 2X ¼” SS washers (20-1282) 
- Hardware, T20H Torx Bit (20-1699) 

Packaging: 
- XL box (90-0147) - Single XL box insert (90-0134) 

Instructions:  
1. Remove bezels from Squadron and S2. 
2. Slide faceplate over mounting bracket and attach the Squadron right side up with the 

four bezel bolts. Attach the S2 right side up with the four bezel bolts. 
3. Tighten 2x M6 housing bolts into circled locations on the right below.   
4. Route wires as shown below and use zip tie in the existing tie slots.  
5. Install M6 bolts through spacer > mounting flange > washer > nyloc nut. Both sides. 

Tighten.   
6. Plug Harness adapter plugs into headlight assembly.  

 **(Red wire to S2, White wire to Squadron) 
 

 

     
- INSTRUCTIONS: M:\2017 NEW INSTRUCTIONS\Honda\44-9161, 2019 Honda CRF450L   

Zip tie slots Mounting flanges Harness Adapter 


